File No.SBTET-EE-2/POLY/P IV/1/2019-EE-2

SECTION - I : MATHEMATICS (3 F*980)

1 If 7 divides a* then
(1) 7 divides ‘a’  (2) 7 divides va (3) a divides 7 - (4) None
o7 RO

(D) 2w Tengos (2) Ja &7 wa908(3) 7% awhvod (4) 96 s

2 In the formula log, xy =log, x+log, y, which of the following is true ?

log,, xy =log, x#10g,y eond, & 8ob >es® 6 desgn.

(1) x>0,y>0,a=1". 2) x<0,y<0,a=1
(3) a>0,y>0,x=1 4) x>0,y>0,a#1
3 T
log,, 5 log< 7
(1) 7°%2 @) 775 @y 7% (4) None (98 s)

SECTION — II : PHYSICS (5738 ®=3930)

61 Ihe lens that is used to rectify hypermetrophia
(1) Concave (2) Convex (3) Cylindrical (4) None
SrS)R D IDBoHOD AdIrHoW SLHERL

(1) Dérss (2) Soerss (3) rarss (4) bs=co

62 When light passes through the liquids the change ol frequency ol Scattered light is
related to
(1) Raman effect (2) Snell's law
(3) Total internal reflection (4) None of these
508 |Bare (hoor (DairefoldSipd, HOEHD0 BodDd sTod BwEy D RR)Jg0 e 0d)d
HI8 DowoboNH. 3

(1) oS @erstn (2) %) dovn
(3) Borgrosd SomdHEHEn (4) W=D

63 The relation between the speed of wave (v). wavelength (3 ) and frequency (n) is-
BSoemcdimn (v ), S$80ci@Ggi0 (A ) DB EPIHghw (17) © Dz o085 E0

1

= = A
(1) n=vA 2) =wvn 3) A=— (4) A=—
v n
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SECTION — 111 : CHEMISTRY (S3ra03 3°2930)

Which of the following equations is not balanced ?

(B0B EArard HrEdnived® fogo Bavsn?

(1) C+05 —CO5 (2) 2AgCl — 2Ag+Cl,
(3) CaCOz — Ca0+CO, (4) N5 +05 — NO

The volume occupied by one gram of hydrogen gas at STP is

(1) 22.4 liters (2) 5.6 liters (3) 11.2 liters (4) 44.8 liters
STP 96 &8 |rrin &S srahd sgod HHBIrno
(1) 224 5. (2) 5.6 & (3) 11.2 &. (4) 448 .

Which of the following metals liberates hydrogen gas when reacted with dil. HCI ?
1Bod &6 dee HC| & 385 202551, TS srahpd dbde T Shiro 20?
(1) Ag (2) Z/n (3) Cu (4) Au

The colour of phenolphthalein indicator in NaOH solution is

(1) pink (2) yellow (3) brown (4) red
NaOH |or8e06° a-pdS D8 Sotd
(1) therd (2) P (3) Ao (4) A0

SECTION - IV : BIOLOGY (iad98w0)

121 Who showed that oxygen is released from water during photosynthesis ?

(1) Benson Calvin (2) Cameleo Golgi (3) Van Neil (4) Robert Hill
Bmetg Sod@rd (8o NS 208 wlyalS ddde wbHid I B ?
(1) 355 39g8 (2) BO&> @ (3) 5 (4) ocof oS
122 I'mulsification is carried out by which juice ?
(1) Bile juice (2) Pancreatic juice
(3) Intestinal juice (4) None of the above
JndyEsmo O Sido dewd S ?
(1) pag so (2) g &0
(3) wo o (4) 38D s>
123 Bile juice contains which enzyme ?
(1) Pepsin (2) Ptyalin
“ (3) Renin (4) None of the above
Pdg 5808" D CEDD JBD dodd ?
(1) =238 (2) ©andS
(3) 338 (4) W s
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